A. 10nC

B. 15 nC C.20nC D. 25 nC
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Q5) The energy density u, and the electric field E are related through:
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Q6) A copper wire has a cross s

and carries a current density of
2000 A/cm?2. The charge passes a given cross section of the wire per hour in
Coulomb is
A. 96x103 B. 150x103

C. 90x10° D540 106

Pgslead e 15 m () gh dagli 8 1.024 mm
H(L.7x108 Q.m) s sbud dttoy 13gd e

Q7) A wire has a diameter 1.024 mm, The resistance of 15 m of this wire js
The resistivity of this wire is (1.7x10°8 Q.m)
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A)0.31 O B. 0.93 O C. 774 0 D. 30.98 O
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¢ a=8x102 /o 4o gl Lo glialt 51ad) Jalaa o cuale 13 (AT) 5,1 o
Q8) The resistance of a resistor increases from 20 mQ ¢ 0.3 Q du

€ to an increase in
its temperature, The temperature coeffici istivi
(@) is 8102 /°C. The in
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